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A: Rome

C:  Everest

B:  Pacific Ocean

D:  Macedonia
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A: He lives in a town centre

C:  He lives in the town centre

B:  He lives in town centre

D:  He lives in an town centre
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A: Where is USA?

C: How far is the sun?

B: Which is the biggest ocean?

D:  Where is the Amazon river?
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A:  the Queen

C:  the Internet

B:  the piano

D:  the President Obama
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A:  I got home late

C:  I got to the home late

B: I got to a home late

D:  I got to a home late
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A: in the morning

C: at the night

B: on the right

D: in the North
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A: The Loch Ness is in Scotland

C: A Loch Ness is in Scotland

B:  Loch Ness is in the Scotland

D:  Loch Ness is in Scotland
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A:  It´s in Asia

C:  It’s in Europe

B:  It’s in South America

D:  It’s in the South America
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A: The Statue of Liberty

C: The Sphinx

B:  The Hyde Park

D:  The Eiffel Tower 
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A:  Sydney

C:  Canberra

B:  The Sydney

D: The Canberra
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A:  I hate mice
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A:  The Hilton

C:  The Cyprus

B:  The Alps

D:  The Times
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A:  most (not: The most)

C: the work (not: work)

B:  by the car (not: by car)

D:  by a car (not: by car)
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is wrong.

What should the answer 
be?
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work by car 
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A:  Pacific Ocean

C: the Titanic

B:  a Titanic

D:  a Pacific Ocean
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A:  The sushi

C: The japaneses

B:

D:  A sushi
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